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B.Com. DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 

Fourth Semester 

Commerce 

ADVANCED ACCOUNTANCY – IV 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is contract? 

 J¨£¢u® GßÓõÀ GßÚ? 

2. What do you mean by notional profit? 

 ¦»ÚõPõ »õ£® GßÓõÀ GßÚ? 

3. What do you mean by royalty? 

 E›ø©z öuõøP GßÓõÀ GßÚ? 

4. State any two importance of minimum rent. 

 SøÓ¢u£m\ ÁõhøPUS H÷uÝ® Cμsk •UQ¯zxÁzøu 
TÖ. 

5. What do you understand by hire purchase system? 

 ÁõhøP öPõÒ•uÀ •øÓ¨ £ØÔ }Âº AÔÁx ¯õx? 

6. What is hire purchase trading account? 

 öPõÒ•uÀ ÁºzuP PnUS GßÓõÀ GßÚ? 
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7. What is deficiency account? 

 £ØÓõUSøÓ PnUS GßÓõÀ GßÚ? 

8. Who is an insolvent? 

 ö|õi¨¦ {ø»²ØÓÁº Gß£Áº ¯õº? 

9. State any two objectives of departmental accounting. 

 xøÓ\õº PnUQ¯¼ß H÷uÝ® Cμsk ÷|õUP[PøÍz u¸P. 

10. What do you understand by inter-departmental 
transfers? 

EÒ xøÓ\õº ©õØÓ® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write the concepts of Retention money.  

   uUP øÁzxUöPõÒÐ® öμõUPzvß P¸zxUPøÍ 
GÊxP. 

Or 

 (b) Explain the treatment of expenses in contract 
account. 

   J¨£¢u PnUQ¯¼À ö\»ÄPøÍU øP¯õÐ® 
•øÓ°øÚ ÂÍUSP. 

12. (a) The Bihar coal company Ltd. are lessee of mine on a 
royalty of 50 paise per tonne of coal raised, with a 
minimum rent of Rs. 30,000 pa and power to recoup 
shortworking during the first five years of the lease. 
The output for the first three years was as follows : 

   2017                15,000 tonnes 

          2018                50,000 tonnes 

          2019                75,000 tonnes 

   Draw the necessary journal entries in the books of 
the company giving effect to the above. 



F–4807 

  

  3

   ¥Põº {»UP› {ÖÁÚ® J¸ hß {»UP›US 50 ø£\õ 

E›ø©z öuõøP°À _μ[PzvÀ SzuøPuõμμõP EÒÍx, 

SøÓ¢u AÍÄ ÁõhøP¯õP BsiØS  

¹. 30,000 ©ØÖ® SøÓ EØ£zvø¯ SzuøP°ß •uÀ 

I¢x BskPÎÀ \›ö\´xU öPõÒÁuõS®. 

   •uÀ ‰ßÖ BskPÐUPõÚ EØ£zv ¤ßÁ¸©õÖ. 

   2017                15,000 hßPÒ 

          2018                50,000 hßPÒ 

          2019                75,000 hßPÒ 

  ÷©ØPshÁØøÓ |øh•øÓ¨£kzx® {ÖÁÚzvß 

¦zuP[PÎÀ ÷uøÁ¯õÚ SÔ¨÷£mk¨ £vÄPøÍz 

u¸P. 

Or 

 (b) The omega coal company are lessor of mine on a 

royalty of Rs. 1 per ton of coal raised with a 

minimum rent of Rs. 80,000 per annum with right 

to recoup short workings during the first five years 

of the lease. The output for the first five years was 

as under. 

   2015             16,000 tons. 

        2016             40,000 tons. 

        2017             80,000 tons. 

        2018             1,00,000 tons. 

        2019             1,20,000 tons. 

   Give necessary ledger accounts.  
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   J÷©Põ {»UP› {ÖÁÚ® J¸ hß {»UP›US ¹. 1 
Ãu® E›ø©z öuõøP°À _μ[PzvÀ SzuøPuõμμõP 
EÒÍx, SøÓ¢u AÍÄ ÁõhøP¯õP BsiØS  

¹. 80,000 ©ØÖ® SøÓ EØ£zvø¯ SzuøP°ß •uÀ 
I¢x BskPÎÀ \›ö\´xU öPõÒÁuõS®. 

    •uÀ I¢x BskPÐUPõÚ EØ£zv ¤ßÁ¸©õÖ. 

   2015             16,000 hßPÒ 

        2016             40,000 hßPÒ 

        2017             80,000 hßPÒ 

        2018             1,00,000 hßPÒ 

        2019             1,20,000 hßPÒ 

  ÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍz u¸P. 

13. (a) Kumar purchased a car from Mani whose cash price 
is Rs. 56,000 on January 1,2017, Rs. 15,000 is to be 
paid on signing the contract and the balance is to be 
paid in three equal installments of Rs. 15,000 each. 
The rate of interest is 5% pa. Calculate the amount 
of interest. 

   áÚÁ› 1, 2017 AßÖ S©õº ©o°hª¸¢x J¸ 

©QÊ¢øu Áõ[QÚõº, Auß Âø» ¹. 56,000,  
¹. 15,000 J¨£¢uzvÀ øPö¯Êzvk® ÷|μzvÀ 

ö\¾zu¨£mhx. «u•ÒÍ öuõøP ¹. 15,000 ‰ßÖ \© 
uÁønPÎÀ ö\¾zu¨£mhx. Ámi ÂQu® BskUS 

5% Ámiz öuõøP°øÚU PnUQkP. 

Or 

 (b) Sekar printers purchased from Tata Ltd, a 
machinery on 1.1.2017 on hire purchase system. 
Cash price of machinery was Rs. 74,500. The price 
was to be paid Rs. 20,000 down and the balance in 3 
equal instalments of Rs. 20,000 commencing from 
31.12.2017 at 5% interest per annum. Prepare 
Vendor Account in the books of Buyer. 
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   ÷\Pº Aa_¨ö£õÔPÒ, hõhõ ¼ªöhmi¼¸¢x 

1.1.2017 AßÖ ÁõhøP öPõÒ•uÀ •øÓ°À öμõUP 

Âø» ¹. 74,500 US J¸ C¯¢vμzøu Áõ[Q¯x. •ß 

£n® ¹. 20,000, 31.12.2017 •uÀ 3 \© uÁønPÎÀ 

¹. 20,000 BskUS, 5% Ámi²hß ö\¾zu¨£mhx. 
Áõ[S£Á›ß ¦zuP[PÎÀ ÂØ£øÚ¯õÍº PnUøPz 
u¯õ›UP. 

14. (a) Prepare the specimen of Deficiency Account  

(List H). 

   SøÓ£õk PnUQß ©õv›ø¯z u¯õ› (£mi¯À H) 

Or 

 (b) Prepare the specimen of Statement of affairs in 

insolvency accounts. 

   vÁõ»õÚ PnUSPÎÀ {ø» AÔUøP°ß ©õv›ø¯z 

u¯õ›. 

15. (a) From the following particulars prepare branch 

account. 

 Rs. 

Goods sent to branch              75,000

Cash sales at the branch            50,000

Credit sales at the branch         60,000

Salaries of branch staff paid by head office          15,000

Office expenses of branch paid by head office      12,000

Cash remittances to branch towards petty cash  6,000

Petty cash at branch on 31.12.19     500

Debtors of branch as on 31.12.19     5,000

Stock at the branch on 31.12.19    27,000



F–4807 

  

  6

         ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x QøÍU PnUøPz u¯õ›. 

 ¹. 

QøÍUS AÝ¨£¨£mh ö£õ¸mPÒ 75,000
QøÍ°À öμõUP ÂØ£øÚ 50,000
QøÍ°À Phß ÂØ£øÚ 60,000
uø»ø© A¾Á»P® ‰»® QøÍ FÈ¯ºPÎß \®£Í® 
ÁÇ[P¨£mhx 

15,000

uø»ø© A¾Á»P® ‰»® QøÍ A¾Á»P ö\»ÄPÒ      12,000
QøÍUS ]À»øÓ öμõUP® ÁÇ[P¨£mhx 6,000

31.12.19 AßÖ QøÍ°À ]À»øÓ öμõUP®  500

31.12.19 ÷uv°ß£i QøÍ°ß PhÚõÎPÒ  5,000

31.12.19 AßÖ QøÍ°ß \μUS  27,000

Or 

 (b) From the following particulars prepare Madurai 
Branch account for the year ended 31.12.2019. 

 Rs. 

Goods sent to Branch                    2,15,000

Cash sent to Branch for expenses  76,000

Cash received from the Branch      3,24,000

Branch stock on 31.12.2019            32,300

Branch petty cash on 31.12.2019   1,040

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 31.12.2019 Ehß 
•iÁøh¢u BsiØPõÚ ©xøμ QøÍU PnUøPz 
u¯õ›UP. 

 ¹. 

QøÍUS AÝ¨£¨£mh ö£õ¸mPÒ 2,15,000

ö\»ÄPÐUPõP QøÍUS AÝ¨£¨£mh öμõUP® 76,000

QøÍ°¼¸¢x ö£Ó¨£mh öμõUP® 3,24,000

31.12.2019 AßÖ QøÍ \μUSPÒ                32,300

31.12.2019 AßÖ QøÍ ]À»øÓ öμõUP®            1,040



F–4807 

  

  7

 Part C  (3  10 = 30) 

Answer any three questions. 

16. A firm of builders, carrying out large contracts kept in a 

contract ledger separate accounts for each contract. The 

following particulars relate to a certain contract carried 

out during the year ended 30th June. 

 Rs. 

Work certified by architects               71,500

Cash received from the contractee     65,000

Materials sent to site                        32,250

Labour engaged on site                       27,400

Plant installed at site                         5,650

Value of plant at 30th June (closing)  4,100

Cost of work not yet certified             1,700

Establishment charges                       1,625

Direct expenditures                            1,200

Wages accrued due                              900

Materials, closing balance                  700

Materials returned to store                200

Direct expenses accrued due              100

Contract price                                1,00,000

 You are required to prepare an account, showing the 

profit on the contract to 30th June. 
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J¸ ö£›¯ Pmih {Ö©®, ö£›¯ AÍÂ»õÚ J¨£¢u[PøÍ 
uÛuÛ ÷£÷μmkU PnUSÎÀ ÷©ØöPõskÒÍx. ¤ßÁ¸® 

ÂÁμ[PÒ áúß 30À •iÄÖ® BsiØPõÚ J¸ J¨£¢u® 
öuõhº¦øh¯uõS®. 

 ¹. 

Pmih {¦nºPÍõÀ \õßÓÎUP¨£mh ÷Áø»°À AÍÄ 71,500
J¨£¢uuõμ›hª¸¢x ö£Ó¨£mh öμõUP® 65,000
£o°hzvØS AÝ¨£¨£mh \μUQß ©v¨¦ 32,250
£o°hzvÀ £o¦›÷Áõº ©v¨¦ 27,400
£o°hzvÀ {ÖÁ¨£mh uÍÁõh[PÒ 5,650
áúß 30 |õÍßøÓ uÍÁõh[PÎß ©v¨¦ (CÖv ©v¨¦) 4,100
\õßÓÎUP¨£hõu £o°À ©v¨¦ 1,700
{ÖÄu¾UPõÚ ö\»ÄPÒ 1,625
÷|μia ö\»ÄPÒ 1,200
öPõk£h ÷Ási¯ T¼ 900
\μUSPÎß CÖv ©v¨¦ 700
£shP\õø»US v¸¨¤ AÝ¨£¨£mh \μUSPÒ 200
÷|μi ö\»ÄPÒ öPõk£h ÷Ási¯x 100
J¨£¢u Âø» 1,00,000

 30 áúß |õÍßøÓ¯ J¨£¢u® «uõÚ C»õ£zøu Põmk® 

PnUS JßøÓ u¯õº ö\´¯ }Âº ÷Põμ¨£kQÕº. 

17. Write short notes on the following : 

 (a) Royalties' receivable 

 (b) Sub-lessee 

 (c) Minimum rent. 

 ]Ö SÔ¨¦z u¸P. 

 (A) ö£Ó÷Ási¯ E›ø©z öuõøP 

 (B) xøn SzuøPuõμº 

 (C) SøÓ¢u AÍÄ ÁõhøP 
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18. X Purchased a Van from Y costing Rs. 3,00,000 on Hire 
purchase system. Payment was to be made Rs. 60,000 
down and the balance in three equal annual installments 
together with interest at 5% pa. X provides depreciation 
at 20% pa. on diminishing balance basis. X paid in first 
instalment at the end of first year. But could not pay the 
rest Y took possession of the Van. He spends Rs. 11,600 
on the Van and sold it for Rs. 2,00,000. Prepare ledger 
accounts in the book of Y. 

X J¸ ÷ÁøÚ Y Chª¸¢x ¹. 3,00,000 US ÁõhøP 
öPõÒ•uÀ •øÓ°À Áõ[SQÓõß. •ß £n® ¹. 60,000 
ö\¾zu¨£mhx. «u•ÒÍ öuõøP ‰ßÖ \© Á¸hõ¢vμ 
uÁønPÎÀ BskUS 5% Ámi°À ö\¾zu¨£mhx.  
X ÷u´©õÚzøu BskUS 20% SøÓ¢x Á¸® C¸¨¦ 
Ai¨£øh°À PnUQmhõº. X •uÀ Bsiß CÖv°À 
•uÀ uÁønø¯ ö\¾zvÚõº. BÚõÀ «u•ÒÍ öuõøPø¯ 
ö\¾zu uÁÔ¯uõÀ Y ÷ÁøÚU øP¨£ØÔÚõº. AÁº ¹. 
11,600 AÁº ö\»ÂkQÓõº ©ØÖ® ¹. 2,00,000 US Aøu 
ÂØÓõº. Y ¦zuPzvÀ ÷£÷μmkU PnUSPøÍz u¯õ›UP. 

19. The assets of a merchant on 30th June 2019 as shown by 
his books were Rs.56,000 and his liabilities Rs.44,000. He 
filed his petition in the insolvency court and estimated 
his deficiency to be Rs.30,000. After making the above 
estimate he found that the following items were not 
passed through his account book : 

 Interest at 6% on his capital from January 2019. 

 A contingent liability of Rs.2,500 on bills discounted by 
him for Rs. 10,000. 

 Rs.

Amount due as wages  300

Salaries                         700

Rent 300

Rates and taxes 200

 Prepare his statement of affairs and deficiency account. 
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 J¸ ÁoP›ß ö\õzxUPÒ áúß 30, 2019 AßÖ AÁμx 

¦zuP[PÎÀ ¹. 56,000 ©ØÖ® AÁμx PhßPÒ ¹. 44,000. 
Põmh¨£mhx AÁº uÚx ©ÝøÁ ö|õizx¨ ÷£õÚ 
ÁÇUSPøÍU øP¯õÐ® }v©ßÓzvÀ uõUPÀ ö\´uõº 

÷©¾® AÁμx £ØÓõUSøÓ ¹. 30,000 GÚ ©v¨¤mhõº. 
÷©ØPsh ©v¨¥møha ö\´u ¤ß, ¤ßÁ¸® PnUSUPÒ 
AÁμx PnUS ¦zuPzvÀ £v¯¨£hÂÀø» Gß£øuU 
PshÔ¢uõº.  

 áÚÁ› 2019 •uÀ AÁμx •uÀ «uõÚ Ámi 6%. 

 AÁº ¹. 10,000 US uÒÐ£i ö\´u Esi¯ÀPÎÀ  

¹. 2,500 J¸ EÖva ö\´¯¨£hõu ö£õÖ¨£õS®. 

 ¹. 

öPõk£h ÷Ási¯ T¼ 300
\®£Í® 700
ÁõhøP 300
Á› ©ØÖ® ÂQu[PÒ 200

20. ‘A’ Ltd. purchase goods for its three departments as 
follows : 

 Dept. A   1000 units                                                                

 Dept. B   2000 units     at a total cost of Rs. 1,00,000 

 Dept. C   2400 units 

 Sales: 

 Dept. A 1020 units at Rs. 20 each 

 Dept. B 1920 units at Rs. 22.50 each 

 Dept. C 2496 units at Rs. 25 each 

 Opening stock: 

 Dept. A    120 units 

 Dept. B   80 units 

 Dept. C   152 units 

 The rate of loss profit is the same in each case. 

 Prepare Departmental Trading Account.  
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 H ¼ªöhm Auß ‰ßÖ xøÓPÐUS ¤ßÁ¸©õÖ 
ö£õ¸mPøÍ Áõ[SQÓx. 

 xøÓ H   1000 A»SPÒ                                                                

 xøÓ ¤   2000 A»SPÒ  (ö©õzu® ¹. 1,00,000 ö\»ÂÀ) 

 xøÓ ]   2400 A»SPÒ 

 ÂØ£øÚ : 

 xøÓ H 1020 A»SPÒ ¹. u»õ 20  

 xøÓ ¤ 1920 A»SPÒ ¹. u»õ 22.50  

 xøÓ ] 2496 A»SPÒ ¹. u»õ 25  

 öuõhUP \μUS : 

 xøÓ H    120 A»SPÒ 

 xøÓ ¤   80 A»SPÒ 

 xøÓ ]   152 A»SPÒ 

 ö©õzu »õ£ ÂQu® JÆöÁõ¸ xøÓ°¾® J÷μ 
©õv›¯õÚx. xøÓ\õº ÁºzuP PnUøPz u¯õ›UP. 

 
———————— 
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